

1-1-2017

The role of the ideal elements in studying the structure of some ordered semigroups

NIOVI KEHAYOPULU

Follow this and additional works at: <https://dctubitak.researchcommons.org/math>



Part of the [Mathematics Commons](#)

Recommended Citation

KEHAYOPULU, NIOVI (2017) "The role of the ideal elements in studying the structure of some ordered semigroups," *Turkish Journal of Mathematics*: Vol. 41: No. 5, Article 6. <https://doi.org/10.3906/mat-1609-26>

Available at: <https://dctubitak.researchcommons.org/math/vol41/iss5/6>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals.

The role of the ideal elements in studying the structure of some ordered semigroups

Niovi KEHAYOPULU*

Department of Mathematics, University of Athens, Panepistimiopolis, Greece

Received: 08.09.2016

Accepted/Published Online: 27.10.2016

Final Version: 28.09.2017

Abstract: The aim of writing this paper is given in the title. We want to show that not only the ideals but also the ideal elements play an essential role in studying the structure of some ordered semigroups. We first prove that a $\vee e$ -semigroup S is a semilattice of left simple $\vee e$ -semigroups if and only if it is decomposable into some pairwise disjoint left simple $\vee e$ -subsemigroups of S indexed by a semilattice Y . Then we give an example of a semilattice of left simple $\vee e$ -semigroups that leads to a characterization of the semilattices of left simple and the chains of left simple $\vee e$ -semigroups in terms of left ideal elements.

Key words: $\vee e$ -semigroup, left (right) ideal element, left (right) regular, semilattice (chain) of left simple $\vee e$ -semigroups

1. Introduction and prerequisites

It is well known that the ideals of ordered semigroups play an essential role in studying their structure. Our aim is to show the role of the ideal elements in studying some ordered semigroups. An ordered groupoid (shortly *po*-groupoid) is an ordered set (S, \leq) with a multiplication “.” that is compatible with the ordering (that is, $a \leq b$ implies $ac \leq bc$ and $ca \leq cb$ for every $c \in S$). The concept of the left (resp. right) ideal element of a *po*-groupoid S has been introduced in [1] as an element a of S such that $xa \leq a$ (resp. $ax \leq a$) for every $x \in S$. An element that is both a left and a right ideal element is called an ideal element. An ordered groupoid in which the multiplication is associative is called an ordered semigroup (*po*-semigroup) [1,3]. Every ordered set S such that, for any $a, b \in S$, the $\sup\{a, b\}$ exists in S is called an upper semilattice (or a \vee -semilattice). If S is a \vee -semigroup, a subset T of S is called a subsemigroup of S if, for every $a, b \in T$, we have $ab \in T$ and $a \vee b \in T$. If the \vee -subsemigroup T of S has a greatest element, say f , then we say that T is a $\vee e$ -subsemigroup of S . If S and T are two $\vee e$ -semigroups, by a homomorphism of S into T we clearly mean any mapping $\varphi : S \rightarrow T$ such that $\varphi(xy) = \varphi(x)\varphi(y)$ and $\varphi(x \vee y) = \varphi(x) \vee \varphi(y)$ for every $x, y \in S$. A \vee -semigroup is a semigroup S and at the same time a \vee -semilattice such that $a(b \vee c) = ab \vee ac$ and $(a \vee b)c = ac \vee bc$ for every $a, b, c \in S$ [1,3]. As one can easily see, every \vee -semigroup is a *po*-semigroup. By a $\vee e$ -semigroup we mean a \vee -semigroup possessing a greatest element usually denoted by e (i.e. $e \geq a$ for all $a \in S$).

We consider a $\vee e$ -semigroup S and introduce the concept of a congruence on S as an equivalence relation σ on S such that $(a, b) \in \sigma$ implies $(ac, bc) \in \sigma$, $(ca, cb) \in \sigma$ and $(a \vee c, b \vee c) \in \sigma$ for every $c \in S$. By a

*Correspondence: nkehayop@math.uoa.gr

2010 AMS Mathematics Subject Classification: 06F05.

semilattice congruence on S , we mean a congruence σ on S such that $(a^2, a) \in \sigma$ and $(ab, ba) \in \sigma$ for all $a, b \in S$. A $\vee e$ -semigroup S is said to be a semilattice of $\vee e$ -semigroups of a given type, say \mathcal{T} , if there exists a semilattice congruence σ on S such that the σ -class $(x)_\sigma$ of S containing x is a $\vee e$ -subsemigroup of S of type \mathcal{T} for every $x \in S$. We first prove that a $\vee e$ -semigroup S is a semilattice of $\vee e$ -semigroups of type \mathcal{T} if and only if it is decomposable into pairwise disjoint $\vee e$ -subsemigroups S_α of S of type \mathcal{T} , indexed by a set Y that is semilattice under two operations “.” and “ \vee ” satisfying $S_\alpha S_\beta \subseteq S_{\alpha\beta}$ and $S_\alpha \vee S_\beta \subseteq S_{\alpha\vee\beta}$ $\forall \alpha, \beta \in Y$, where $S_\alpha \vee S_\beta$ is the set $\{a \vee b \mid a \in S_\alpha, b \in S_\beta\}$. Then we prove that if a semigroup (S, \cdot) is a semilattice of left simple semigroups, then the set of nonempty subsets of S with the multiplication induced by the multiplication on S and the inclusion relation is a semilattice of left simple $\vee e$ -semigroups. This being an example of a semilattice of left simple semigroups leads to a characterization of the semilattices of left simple and the chains of left simple $\vee e$ -semigroups. A $\vee e$ -semigroup S is said to be a chain of left simple semigroups if there exists a semilattice congruence σ on S such that the σ -class $(x)_\sigma$ is a left simple $\vee e$ -subsemigroup of S for every $x \in S$ and the set S/σ of all σ -classes of S endowed with the order relation $(x)_\sigma \leq (y)_\sigma \Leftrightarrow (x)_\sigma = (xy)_\sigma$ is a chain. We prove that a $\vee e$ -semigroup S is a semilattice of left simple $\vee e$ -semigroups if and only if S is left regular and the left ideal elements of S are two-sided, equivalently, if the set of left ideal elements of S endowed with the operation “.” of S is a semilattice (idempotent and commutative semigroup). We also prove that a $\vee e$ -semigroup S is a semilattice of left simple $\vee e$ -semigroups if and only if for any two left ideal elements a and b of S the element ab is the infimum of the elements a and b . Finally, we characterize the chain of left simple $\vee e$ -semigroups in terms of left ideal elements. Characterizations of ordered semigroups that are semilattices of left simple semigroups using left ideals have been studied in [6,7]. A characterization of the chains of right simple semigroups in ordered semigroups in terms of right ideals has been given in [5]. In the present paper, the left (right) ideal elements instead of left (right) ideals play the essential role. The Theorem 7 in [8] can be also obtained either as an application of the Theorem 6 in [6] (see [6; Corollary 8]) or as an application of the Theorem 9 of the present paper.

For the sake of completeness, let us give the following definitions regarding the nonordered semigroups needed in Theorem 7: If (S, \cdot) is a semigroup, a nonempty subset A of S is called a left (resp. right) ideal of S if $SA \subseteq A$ (resp. $AS \subseteq A$). We denote by $\mathcal{P}(S)$ the set of (all) nonempty subsets of S and by $L(A)$ the left ideal of S generated by A . An equivalence relation σ on S is called semilattice congruence if, for any $a, b, c \in S$, $(a, b) \in \sigma$ implies $(ac, bc) \in \sigma$ and $(ca, cb) \in \sigma$; $(a^2, a) \in \sigma$ and $(ab, ba) \in \sigma$. A semigroup (S, \cdot) is called a semilattice of semigroups of type \mathcal{T} if S is the union of a semilattice Ω of semigroups S_α ($\alpha \in \Omega$), where each S_α is of type \mathcal{T} [2]. This is equivalent to saying that there exists a semilattice congruence σ on S such that the σ -class $(x)_\sigma$ of S containing x is a subsemigroup of S of type \mathcal{T} for every $x \in S$. A semigroup S is called left (resp. right) simple if S is the only left (resp. right) ideal of S , that is, if T is a left (resp. right) ideal of S , then $T = S$. A semigroup that is idempotent (that is, $a^2 = a \forall a \in S$) and commutative is called semilattice. For further information we refer to [1,4,6] (for po -semigroups) and to [2] (for semigroups).

2. On semilattices of semigroups of type \mathcal{T}

A $\vee e$ -semigroup is a semigroup S and at the same time a \vee -semilattice having a greatest element usually denoted by “ e ” such that

$$a(b \vee c) = ab \vee ac \text{ and } (a \vee b) = ac \vee bc$$

for every $a, b, c \in S$.

Definition 1. Let S be a $\vee e$ -semigroup. An equivalence relation σ on S is called *congruence* if $(a, b) \in \sigma$ implies $(ac, bc) \in \sigma$, $(ca, cb) \in \sigma$ and $(a \vee c, b \vee c) \in \sigma$ for every $c \in S$.

Proposition 2. Let S be a $\vee e$ -semigroup and σ a congruence on S . Then the set S/σ of all σ -classes of S endowed with the operations

$$(x)_\sigma \cdot (y)_\sigma = (xy)_\sigma \text{ and } (x)_\sigma \vee (y)_\sigma = (x \vee y)_\sigma$$

is a $\vee e$ -semigroup.

Proof. Since σ is a congruence on S , the operations “.” and “ \vee ” on S/σ are well defined. The operation “.” is associative and so $(S/\sigma, \cdot)$ is a semigroup. The operation “ \vee ” is idempotent, that is $(x)_\sigma \vee (x)_\sigma = (x)_\sigma$ for all $x \in S$, commutative, and associative; thus the set S/σ endowed with the relation

$$(x)_\sigma \leq (y)_\sigma \Leftrightarrow (x \vee y)_\sigma = (y)_\sigma$$

is an ordered set such that $\sup\{(x)_\sigma, (y)_\sigma\} = (x \vee y)_\sigma$ for all $x, y \in S$; in other words, S/σ is an upper semilattice. If e is the greatest element of S , then the class $(e)_\sigma$ is the greatest element of S/σ . Moreover, for all $x, y, z \in S$, we have

$$\begin{aligned} (x)_\sigma \cdot ((y)_\sigma \vee (z)_\sigma) &= (x)_\sigma \cdot (y \vee z)_\sigma = (x(y \vee z))_\sigma = (xy \vee xz)_\sigma \\ &= (xy)_\sigma \vee (xz)_\sigma = (x)_\sigma \cdot (y)_\sigma \vee (x)_\sigma \cdot (z)_\sigma. \end{aligned}$$

Similarly we get $((x)_\sigma \vee (y)_\sigma) \cdot (z)_\sigma = (x)_\sigma \cdot (z)_\sigma \vee (y)_\sigma \cdot (z)_\sigma$ and so S/σ is a $\vee e$ -semigroup. □

Definition 3. Let S be a $\vee e$ -semigroup. A congruence σ on S is called *semilattice congruence* if $(a^2, a) \in \sigma$ and $(ab, ba) \in \sigma$ for every $a, b \in S$.

We can easily prove that if σ is a semilattice congruence on S , then the σ -class $(x)_\sigma$ of S containing x ($x \in S$) is a subsemigroup of S .

Definition 4. A $\vee e$ -semigroup S is said to be a *semilattice of $\vee e$ -semigroups of a given type, say \mathcal{T}* , if there exists a semilattice congruence σ on S such that the σ -class $(x)_\sigma$ of S containing x is a $\vee e$ -subsemigroup of S of type \mathcal{T} for every $x \in S$.

The next Theorem characterizes the semilattices of $\vee e$ -semigroups of type \mathcal{T} and so can be applied to semilattices of left simple $\vee e$ -semigroups.

Theorem 5. Let S be a $\vee e$ -semigroup. The following are equivalent:

1. There exists a semilattice congruence σ on S such that the σ -class $(x)_\sigma$ is a $\vee e$ -subsemigroup of S of type \mathcal{T} for every $x \in S$.
2. There exists a $\vee e$ -semigroup Y that is a semilattice (i.e. idempotent and commutative semigroup) under two operations “.” and “ \vee ” and a homomorphism $\varphi : S \rightarrow Y$ such that the set $\varphi^{-1}(\{\alpha\})$ is a $\vee e$ -subsemigroup of S of type \mathcal{T} for every $\alpha \in Y$.
3. There exists a semilattice Y under two operations “.” and “ \vee ” and a family $\{S_\alpha\}_{\alpha \in Y}$ of $\vee e$ -subsemigroups of S of type \mathcal{T} such that

$$S_\alpha \cap S_\beta = \emptyset \quad \forall \alpha, \beta \in Y, \alpha \neq \beta;$$

$$S = \bigcup_{\alpha \in Y} S_\alpha;$$

$$S_\alpha S_\beta \subseteq S_{\alpha\beta} \quad \forall \alpha, \beta \in Y;$$

$$S_\alpha \vee S_\beta \subseteq S_{\alpha \vee \beta} \quad \forall \alpha, \beta \in Y, \text{ where } S_\alpha \vee S_\beta := \{a \vee b \mid a \in S_\alpha, b \in S_\beta\}.$$

Proof. 1 \implies 2. Let σ be a semilattice congruence on S such that $(x)_\sigma$ is a $\vee e$ -subsemigroup of S of type \mathcal{T} for every $x \in S$. As we have already seen, the set $Y := S/\sigma$ endowed with the operation “ \cdot ” (resp. “ \vee ”) defined in Proposition 2 is a semigroup and (Y, \vee) is a semilattice (i.e. idempotent and commutative). The semigroup (Y, \cdot) is also a semilattice. Indeed: Let $x, y \in S$. Since $(x^2, x) \in \sigma$, we have $(x)_\sigma \cdot (x)_\sigma = (x^2)_\sigma = (x)_\sigma$ and so $(S/\sigma, \cdot)$ is idempotent. Since $(xy, yx) \in \sigma$, we have $(x)_\sigma \cdot (y)_\sigma = (xy)_\sigma = (yx)_\sigma = (y)_\sigma \cdot (x)_\sigma$ and so $(S/\sigma, \cdot)$ is commutative. For the mapping $\varphi : S \rightarrow Y \mid x \rightarrow (x)_\sigma$ (of the $\vee e$ -semigroup S into the $\vee e$ -semigroup Y), and any $x, y \in S$, we have $\varphi(xy) = (xy)_\sigma = (x)_\sigma (y)_\sigma = \varphi(x) \cdot \varphi(y)$ and

$$\varphi(x \vee y) = (x \vee y)_\sigma = (x)_\sigma \vee (y)_\sigma = \varphi(x) \vee \varphi(y).$$

Let now $\alpha \in Y$. Then $\alpha = (x)_\sigma$ for some $x \in S$, and $\varphi^{-1}(\{\alpha\}) = (x)_\sigma$. Indeed: If $t \in \varphi^{-1}(\{\alpha\})$, then $t \in S$, $\varphi(t) = \alpha$. Since $t \in S$, we have $\varphi(t) = (t)_\sigma$. Since $(t)_\sigma = \alpha = (x)_\sigma$, we have $t \in (x)_\sigma$. If now $t \in (x)_\sigma$, then $t \in S$, $\varphi(t) = (t)_\sigma = (x)_\sigma = \alpha$ and so $t \in \varphi^{-1}(\{\alpha\})$. Since $(x)_\sigma$ is a $\vee e$ -subsemigroup of S of type \mathcal{T} , $\varphi^{-1}(\{\alpha\})$ is a $\vee e$ -subsemigroup of S of type \mathcal{T} as well.

2 \implies 3. We put $\varphi^{-1}(\{\alpha\})$ for each $\alpha \in Y$. Then $\{S_\alpha\}_{\alpha \in Y}$ is a family of $\vee e$ -subsemigroups of S of type \mathcal{T} . Moreover, the following assertions are satisfied:

(a) Let $\alpha, \beta \in Y, \alpha \neq \beta$. Then $\varphi^{-1}(\{\alpha\}) \cap \varphi^{-1}(\{\beta\}) = \emptyset$. Indeed, if $t \in \varphi^{-1}(\{\alpha\}) \cap \varphi^{-1}(\{\beta\})$, then $\varphi(t) = \alpha, \varphi(t) = \beta$ and so $\alpha = \beta$, which is impossible.

(b) $S = \bigcup_{\alpha \in Y} \varphi^{-1}(\{\alpha\})$. Indeed: If $\alpha \in Y$, then $\{\alpha\} \subseteq Y$, so $\varphi^{-1}(\{\alpha\}) \subseteq S$, and $\bigcup_{\alpha \in Y} \varphi^{-1}(\{\alpha\}) \subseteq S$. If $x \in S$, then for the element $\alpha := \varphi(x) \in Y$, we have $x \in \varphi^{-1}(\{\alpha\}) \subseteq \bigcup_{\alpha \in Y} \varphi^{-1}(\{\alpha\})$.

(c) Let $\alpha, \beta \in Y$. Then $\varphi^{-1}(\{\alpha\}) \varphi^{-1}(\{\beta\}) \subseteq \varphi^{-1}(\{\alpha\beta\})$. Indeed: If $t = xy$, for some $x \in \varphi^{-1}(\{\alpha\}), y \in \varphi^{-1}(\{\beta\})$, then $\varphi(t) = \varphi(xy) = \varphi(x)\varphi(y) = \alpha\beta$; thus $t \in \varphi^{-1}(\{\alpha\beta\})$.

(d) Let $\alpha, \beta \in Y, a \in \varphi^{-1}(\{\alpha\})$ and $b \in \varphi^{-1}(\{\beta\})$. Then $a \vee b \in \varphi^{-1}(\{\alpha \vee \beta\})$. Indeed, since $\varphi(a) = \alpha, \varphi(b) = \beta$, we have $\alpha \vee \beta = \varphi(a) \vee \varphi(b) = \varphi(a \vee b)$ and so $a \vee b \in \varphi^{-1}(\{\alpha \vee \beta\})$.

3 \implies 1. We define a relation σ on S as follows:

$$\sigma := \{(x, y) \in S \times S \mid \exists \alpha \in Y : x, y \in S_\alpha\}.$$

(i) σ is a semilattice congruence on S . In fact: σ is clearly reflexive and symmetric. Let $(x, y) \in \sigma, (y, z) \in \sigma$. Suppose $\alpha \in Y$ such that $x, y \in S_\alpha$ and $\beta \in Y$ such that $y, z \in S_\beta$. Since $y \in S_\alpha \cap S_\beta$, we have $\alpha = \beta, x, z \in S_\alpha$ and $(x, z) \in \sigma$ and so σ is transitive. Let $(x, y) \in \sigma$ and $z \in S$. If $\alpha \in Y$ such that $x, y \in S_\alpha$ and $\beta \in Y$ such that $z \in S_\beta$, then $xz, yz \in S_\alpha S_\beta \subseteq S_{\alpha\beta}$ and $x \vee z, y \vee z \in S_\alpha \vee S_\beta \subseteq S_{\alpha \vee \beta}$, where $\alpha\beta \in Y$ and $\alpha \vee \beta \in Y$ and so $(xz, yz) \in \sigma$ and $(x \vee z, y \vee z) \in \sigma$. Similarly $(zx, zy) \in \sigma$. If $x \in S$ and $\alpha \in Y$ such that $x \in S_\alpha$, then $x^2 \in S_\alpha S_\alpha \subseteq S_{\alpha^2} = S_\alpha$. Since $x^2, x \in S_\alpha, \alpha \in Y$, we have $(x^2, x) \in \sigma$. If $x, y \in S$ and $\alpha, \beta \in Y$ such that $x \in S_\alpha, y \in S_\beta$, then $xy \in S_\alpha S_\beta \subseteq S_{\alpha\beta}$ and $yx \in S_\beta S_\alpha \subseteq S_{\beta\alpha} = S_{\alpha\beta}$. Since $xy, yx \in S_{\alpha\beta}$ and $\alpha\beta \in Y$, we have $(xy, yx) \in \sigma$.

(ii) Let $x \in S$. Then $(x)_\sigma$ is a $\vee e$ -subsemigroup of S of type \mathcal{T} . In fact: Since $x \in S$, $x \in S_\alpha$ for some $\alpha \in Y$. We have $(x)_\sigma = S_\alpha$. Indeed: If $y \in (x)_\sigma$, then $(y, x) \in \sigma$ and so there exists $\beta \in Y$ such that $y, x \in S_\beta$. Since $x \in S_\alpha \cap S_\beta$, we have $\alpha = \beta$, and $y \in S_\alpha$. If $y \in S_\alpha$, then $y, x \in S_\alpha$ ($\alpha \in Y$), then $(x, y) \in \sigma$ and $y \in (y)_\sigma = (x)_\sigma$. \square

3. On semilattices and chains of left simple $\vee e$ -semigroups

We deal here with a decomposition of left simple $\vee e$ -semigroups into left simple components using the left ideal elements.

Definition 6. [4] An element a of a $\vee e$ -semigroup S is called a *left (resp. right) ideal element* if $ea \leq a$ (resp. $ae \leq a$). A $\vee e$ -semigroup S is called *left simple* if for every left ideal element a of S we have $a = e$.

Theorem 7. *If a semigroup (S, \cdot) is a semilattice of left simple semigroups, then the $\vee e$ -semigroup $(\mathcal{P}(S), \cdot, \subseteq)$ is a semilattice of left simple $\vee e$ -semigroups.*

Proof. Let σ be a semilattice congruence on (S, \cdot) such that $(x)_\sigma$ is a left simple subsemigroup of (S, \cdot) for every $x \in S$. The set $\mathcal{P}(S)$ of all subsets of S with the multiplication on $\mathcal{P}(S)$ induced by the multiplication of S and the inclusion relation forms a $\vee e$ -semigroup (where S is the greatest element of $\mathcal{P}(S)$). That is, $(\mathcal{P}(S), \cdot, \subseteq)$ is a $\vee e$ -semigroup. Let \mathcal{L} be the equivalence relation on $\mathcal{P}(S)$ defined by

$$\mathcal{L} := \{(A, B) \in \mathcal{P}(S) \times \mathcal{P}(S) \mid L(A) = L(B)\}.$$

First of all, we prove that $SX \cup X = SX$, equivalently, $X \subseteq SX$ for every $X \subseteq S$. In fact, let $X \subseteq S$ and $x \in X$. The set $SX \cap (x)_\sigma$ is a left ideal of $((x)_\sigma, \cdot)$. This is because it is a nonempty subset of $(x)_\sigma$ (as $x^2 \in SX \cap (x)_\sigma$) and

$$(x)_\sigma(SX \cap (x)_\sigma) \subseteq (x)_\sigma SX \cap (x)_\sigma^2 \subseteq S^2X \cap (x)_\sigma \subseteq SX \cap (x)_\sigma.$$

Since $((x)_\sigma, \cdot)$ is left simple, we have $SX \cap (x)_\sigma = (x)_\sigma$; thus $x \in SX$. Hence we have

$$\mathcal{L} = \{(A, B) \in \mathcal{P}(S) \times \mathcal{P}(S) \mid SA = SB\}.$$

The following assertions are satisfied:

(1) \mathcal{L} is a semilattice congruence on $(\mathcal{P}(S), \cdot, \subseteq)$. In fact:

Let $(A, B) \in \mathcal{L}$ and $C \in \mathcal{P}(S)$. Since $SA = SB$, we have $SAC = SBC$ and so $(AC, BC) \in \mathcal{L}$. Since $S(A \cup C) = SA \cup SC = SB \cup SC = S(B \cup C)$, we have $(A \cup C, B \cup C) \in \mathcal{L}$. We also have $(CA, CB) \in \mathcal{L}$, that is $S(CA) = S(CB)$. Indeed: it is enough to prove that $SC = SCS$. Then we have

$$\begin{aligned} S(CA) &= (SC)A = (SCS)A = (SC)(SA) = (SC)(SB) \\ &= (SCS)B = (SC)B = S(CB). \end{aligned}$$

We have $SC = SCS$. In fact: Let $x \in S$, $y \in C$. The set $SCS \cap (xy)_\sigma$ is a left ideal of $(xy)_\sigma$. This is because $\emptyset \neq SCS \cap (xy)_\sigma \subseteq (xy)_\sigma$ (as $xy^2 \in SCS$, $xy^2 \in (xy^2)_\sigma = (x)_\sigma(y^2)_\sigma = (x)_\sigma(y)_\sigma = (xy)_\sigma$) and

$$\begin{aligned} (xy)_\sigma(SCS \cap (xy)_\sigma) &\subseteq (xy)_\sigma SCS \cap (xy)_\sigma^2 \subseteq S^2CS \cap (xy)_\sigma \\ &\subseteq SCS \cap (xy)_\sigma. \end{aligned}$$

Since $(xy)_\sigma$ is left simple, we have $SCS \cap (xy)_\sigma = (xy)_\sigma$ and so $xy \in SCS$, and $SC \subseteq SCS$. On the other hand, $CS \subseteq SC$. Indeed: Let $x \in C$, $y \in S$. The set $SC \cap (xy)_\sigma$ is a left ideal of $(xy)_\sigma$. This is because

$$\begin{aligned} \emptyset \neq SC \cap (xy)_\sigma &\subseteq (xy)_\sigma \text{ (since } yx \in SC, yx \in (xy)_\sigma \text{) and} \\ (xy)_\sigma(SC \cap (xy)_\sigma) &\subseteq (xy)_\sigma SC \cap (xy)_\sigma^2 \subseteq S^2C \cap (xy)_\sigma \subseteq SC \cap (xy)_\sigma. \end{aligned}$$

Thus we get $SC \cap (xy)_\sigma = (xy)_\sigma$, and $xy \in SC$. Since $CS \subseteq SC$, we have $SCS \subseteq S^2C \subseteq SC$, and $SC = SCS$. Let $A \in \mathcal{P}(S)$. Then $(A^2, A) \in \mathcal{L}$, that is $SA^2 = SA$. In fact: Let $x \in S$, $y \in A$. The set $SA^2 \cap (xy)_\sigma$ is a left ideal of $(xy)_\sigma$. Indeed,

$$\begin{aligned} \emptyset \neq SA^2 \cap (xy)_\sigma &\subseteq (xy)_\sigma \text{ (since } xy^2 \in SA^2, xy^2 \in (xy)_\sigma \text{) and} \\ (xy)_\sigma(SA^2 \cap (xy)_\sigma) &\subseteq (xy)_\sigma SA^2 \cap (xy)_\sigma^2 \subseteq S^2A^2 \cap (xy)_\sigma \subseteq SA^2 \cap (xy)_\sigma. \end{aligned}$$

Then $SA^2 \cap (xy)_\sigma = (xy)_\sigma$, and $xy \in SA^2$. Thus we have $SA \subseteq SA^2 \subseteq SA$, and $SA^2 = SA$.

Let $A, B \in \mathcal{P}(S)$. Then $(AB, BA) \in \mathcal{L}$, that is $S(AB) = S(BA)$. In fact: Let $x \in S$, $a \in A$, $b \in B$. The set $SBA \cap (xab)_\sigma$ is a left ideal of $(xab)_\sigma$. Indeed,

$$\begin{aligned} \emptyset \neq SBA \cap (xab)_\sigma &\subseteq (xab)_\sigma \text{ (since } xba \in SBA, xba \in (xab)_\sigma \text{) and} \\ (xab)_\sigma(SBA \cap (xab)_\sigma) &\subseteq (xab)_\sigma SBA \cap (xab)_\sigma^2 \subseteq SBA \cap (xab)_\sigma. \end{aligned}$$

Then $SBA \cap (xab)_\sigma = (xab)_\sigma$, and $xab \in SBA$. Thus we have $SAB \subseteq SBA$. By symmetry, we get $SBA \subseteq SAB$; thus $S(AB) = S(BA)$.

(2) $(A)_\mathcal{L}$ is a left simple $\vee e$ -subsemigroup of $(\mathcal{P}(S), \cdot, \subseteq)$ for every $A \in \mathcal{P}(S)$.

In fact: Let $A \in \mathcal{P}(S)$ and $X, Y \in (A)_\mathcal{L}$. Since $X\mathcal{L}A$, $Y\mathcal{L}A$, we have $XY\mathcal{L}AY$, $AY\mathcal{L}A^2$ and then $XY\mathcal{L}A^2$. Since $XY\mathcal{L}A^2$ and $A^2\mathcal{L}A$, we have $XY\mathcal{L}A$ and so $XY \in (A)_\mathcal{L}$, and $(A)_\mathcal{L}$ is a subsemigroup of $\mathcal{P}(S)$. Again since $X\mathcal{L}A$, $Y\mathcal{L}A$, we have $(X \cup Y)\mathcal{L}(A \cup Y)$ and $(A \cup Y)\mathcal{L}(A \cup A) = A$; then $(X \cup Y)\mathcal{L}A$, and $X \cup Y \in (A)_\mathcal{L}$ and so $(A)_\mathcal{L}$ is a \vee -subsemigroup of $\mathcal{P}(S)$. The set SA is the greatest element of $(A)_\mathcal{L}$. In fact: First of all, $SA \in (A)_\mathcal{L}$, that is $S(SA) = SA$. Indeed: Let $x \in S$. The set $S^2 \cap (x)_\sigma$ is a left ideal of $(x)_\sigma$. This is because $\emptyset \neq S^2 \cap (x)_\sigma \subseteq (x)_\sigma$ (since $x^2 \in S^2$, $x^2 \in (x)_\sigma$) and $(x)_\sigma(S^2 \cap (x)_\sigma) \subseteq (x)_\sigma S^2 \cap (x)_\sigma^2 \subseteq S^2 \cap (x)_\sigma$, then $S^2 \cap (x)_\sigma = (x)_\sigma$, and $x \in S^2$; thus $S^2 = S$ and so $S(SA) = SA$. Moreover, $X \subseteq SA$ for every $X \in (A)_\mathcal{L}$. Indeed, if $X \in (A)_\mathcal{L}$, then $SX = SA$, from which $X \subseteq X \cup SX = SX = SA$.

Finally, $(A)_\mathcal{L}$ is left simple. In fact: Let L be a left ideal element of $(A)_\mathcal{L}$. Then $L = SA$. Indeed: Since $L \in (A)_\mathcal{L}$, we have $L\mathcal{L}A$, then $SL = SA$. On the other hand,

$$\begin{aligned} L &\subseteq L \cup SL = SL = SL^2 \text{ (since } L\mathcal{L}L^2 \text{)} \\ &= (SL)L = (SA)L \\ &\subseteq L \text{ (since } L \text{ is a left ideal of } (A)_\mathcal{L} \text{);} \end{aligned}$$

thus we have $L = SL = SA$. □

We are ready now to study the semilattices of left simple $\vee e$ -semigroups. We give some properties that characterize the semilattices of left simple $\vee e$ -semigroups. Then we apply our results to semigroups.

Definition 8. [4] A $\vee e$ -semigroup S is called *left* (resp. *right*) *regular* if $a \leq ea^2$ (resp. $a \leq a^2e$) for every $a \in S$. It is called *left* (resp. *right*) *duo* if the left (resp. right) ideal elements of S are two-sided.

In the following, $l(a)$ denotes the left ideal element of S generated by a ($a \in S$); as one can easily prove, this is the element $ea \vee a$. The right ideal element of S generated by a , denoted by $r(a)$, is the element $ae \vee a$. We denote by F_l (resp. F_r) the set of (all) left (resp. right) ideal elements of S (cf. also [4]).

Theorem 9. *Let S be a $\vee e$ -semigroup. The following are equivalent:*

- (i) S is a semilattice of left simple $\vee e$ -semigroups.
- (ii) S is left regular and left duo.
- (iii) For every $a, b \in F_l$, the $\inf\{a, b\} (= a \wedge b)$ exists in S , and we have $a \wedge b = ab$.
- (iv) (F_l, \cdot) is a semilattice.

Proof. (i) \implies (ii). Let σ be a semilattice congruence on S such that $(y)_\sigma$ is a left simple $\vee e$ -subsemigroup of S for every $y \in S$. Let $x \in S$ and f the greatest element of $(x)_\sigma$. Since $f, x^2 \in (x)_\sigma$, we have $fx^2 \in (x)_\sigma$. Since $f(fx^2) = f^2x^2 \leq fx^2$, fx^2 is a left ideal element of $(x)_\sigma$. Since $(x)_\sigma$ is left simple, we have $fx^2 = f$. Thus we have $x \leq f = fx^2 \leq ex^2$, and S is left regular. Let now a be a left ideal element of S and f the greatest element of $(a)_\sigma$. Since $fa \leq ea \leq a$, the element a is a left ideal element of $(a)_\sigma$. Since $(a)_\sigma$ is left simple, we have $a = f$. Since $ea \leq a \leq ea^2 \leq ea$, we have $ea = a$; then $(a)_\sigma = (ea)_\sigma = (ae)_\sigma$. Since $ae \in (a)_\sigma$, we get $ae \leq f = a$, and a is a right ideal element of S .

(ii) \implies (iii). Let $a, b \in F_l$. Since $a \in F_l \subseteq F_r$, we have $ab \leq ae \leq a$. Since $b \in F_l$, we have $ab \leq eb \leq b$. Let now $t \in S$ such that $t \leq a$ and $t \leq b$. Since S is left regular, we have $t \leq et^2 \leq eab \leq ab$. Thus the element ab is the infimum of the elements a and b in S .

(iii) \implies (iv). Since $e \in F_l$, F_l is a nonempty subset of S . Let now $a, b \in F_l$. Then $e(ab) = (ea)b \leq ab$ and so $ab \in F_l$, and F_l is a subsemigroup of S . Moreover, by (iii), $\inf\{a, b\} = ab$ and $\inf\{b, a\} = ba$. Since $\inf\{a, b\} = \inf\{b, a\}$, we have $ab = ba$ and so F_l is commutative. By (iii), we also get $a = \inf\{a, a\} = a^2$ and so F_l is idempotent. Thus (F_l, \cdot) is a semilattice.

(iv) \implies (i). We consider the equivalence relation on S defined as follows:

$$\mathcal{L} := \{(x, y) \in S \times S \mid l(x) = l(y)\}.$$

We remark that $l(x) = ex$ for every $x \in S$. Indeed, let $x \in S$. Since $l(x)$ is a left ideal element of S , by (iv), we have

$$\begin{aligned} l(x) &= (l(x))^2 = (ex \vee x)(ex \vee x) = exex \vee xex \vee ex^2 \vee x^2 \\ &\leq ex \leq ex \vee x = l(x), \end{aligned}$$

and so $l(x) = ex$. Thus we have

$$\mathcal{L} = \{(x, y) \in S \times S \mid ex = ey\}.$$

Then we have the following:

- (1) \mathcal{L} is a semilattice congruence on S .

In fact: Let $(a, b) \in \mathcal{L}$, $c \in S$. Since $ea = eb$, we have $(ea)c = (eb)c$; then $e(ac) = e(bc)$, and $(ac, bc) \in \mathcal{L}$. On the other hand, by (iv), we have

$$\begin{aligned} e(ca) &\leq ecl(a) = (ec)ea = (ec)eb = ((ec)e)b = (e(ec))b \\ &= e^2cb \leq e(cb), \end{aligned}$$

by symmetry, $e(cb) \leq e(ca)$; thus $e(ca) = e(cb)$ and $(ca, cb) \in \mathcal{L}$. Moreover, since $e(a \vee c) = ea \vee ec = eb \vee ec = e(b \vee c)$, we get $(a \vee c, b \vee c) \in \mathcal{L}$.

Let now $a, b \in S$. Since $ea \in F_l$, by (iv), we have $ea = (ea)^2$. Then we have

$$ea = (ea)(ea) = ((ea)e)a = (e(ea))a = e^2a^2 \leq ea^2 \leq ea,$$

and so $ea^2 = ea$ and $(a^2, a) \in F_l$. Also

$$\begin{aligned} e(ab) &= (eab)(eab) \leq eb(ea)e = ebe(ea) \text{ (since } ea, e \in F_l) \\ &\leq (eb)ea = e(eb)a \leq e(ba), \end{aligned}$$

by symmetry $e(ba) \leq e(ab)$; then $(ab, ba) \in \mathcal{L}$.

(2) $(x)_{\mathcal{L}}$ is a left simple $\vee e$ -subsemigroup of S for every $x \in S$.

In fact: Let $x \in S$. The (nonempty set) $(x)_{\mathcal{L}}$ is a \vee -subsemigroup of S . Indeed: Let $a, b \in (x)_{\mathcal{L}}$. Since $a\mathcal{L}x$, $b\mathcal{L}x$, we have $ab\mathcal{L}xb$, $xb\mathcal{L}x^2$. Since $x^2\mathcal{L}x$, we get $ab\mathcal{L}x$, and $ab \in (x)_{\mathcal{L}}$. On the other hand, $a\mathcal{L}x$ and $b\mathcal{L}x$ imply $a \vee b\mathcal{L}x \vee b$ and $x \vee b\mathcal{L}x^2$; besides, we have $x^2\mathcal{L}x$ and so we get $a \vee b\mathcal{L}x$ and $a \vee b \in (x)_{\mathcal{L}}$. The element ex is the greatest element of $(x)_{\mathcal{L}}$. Indeed: Since $e \in F_l$, by (iv), we have $e^2 = e$. Then $e(ex) = e^2x = ex$ and so $(ex, x) \in \mathcal{L}$ and $ex \in (x)_{\mathcal{L}}$. If $a \in (x)_{\mathcal{L}}$, then $a\mathcal{L}x$ i.e. $ea = ex$ and so $a \leq l(a) = ea = ex$. Moreover $(x)_{\mathcal{L}}$ is left simple. Indeed: Let a be a left ideal element of $(x)_{\mathcal{L}}$. Since $a \in (x)_{\mathcal{L}}$, we have $a\mathcal{L}x$; then $ea = ex$. Since $a\mathcal{L}a^2$, we have

$$a \leq l(a) = ea = ea^2 = (ea)a = (ex)a.$$

Since a is a left ideal element of $(x)_{\mathcal{L}}$ and ex the greatest element of $(x)_{\mathcal{L}}$, we have $(ex)a \leq a$. Then we have $a = ea = ex$. □

The characterization of a semigroup that is both left regular and left duo as a semilattice of simple semigroups given in [8] can be also obtained as an application of the Theorem 9 of the present paper.

Corollary 10. ([8; the Theorem]) *Let (S, \cdot) be a semigroup. The following are equivalent:*

- (i) S is a semilattice of left simple semigroups.
- (ii) S is left regular and every left ideal of S is two-sided.
- (iii) For all left ideals A, B of S , we have $A \cap B = AB$.
- (iv) The set of left ideals of S is a semilattice.

Proof. (i) \implies (ii). Let (S, \cdot) be a semilattice of left simple semigroups. By Theorem 7, the $\vee e$ -semigroup $(\mathcal{P}(S), \cdot, \subseteq)$ is a semilattice of left simple $\vee e$ -semigroups. By Theorem 9(i) \implies (ii), the $\vee e$ -semigroup $(\mathcal{P}(S), \cdot, \subseteq)$ is left regular and every left ideal element of $(\mathcal{P}(S), \cdot, \subseteq)$ is two-sided. Then the semigroup (S, \cdot) is left regular and every left ideal of (S, \cdot) is two-sided.

(ii) \implies (iii). Let (S, \cdot) be left regular and every left ideal of S is two-sided. Then $(\mathcal{P}(S), \cdot, \subseteq)$ is left regular and every left ideal element of $\mathcal{P}(S)$ is two-sided. By Theorem 9(ii) \implies (iii), for all left ideal elements A, B of $\mathcal{P}(S)$ we have $\inf\{A, B\} = AB$. Then for all left ideals A, B of S we have $\inf\{A, B\} = AB$. Clearly, $\inf\{A, B\} = A \cap B$.

(iii) \implies (iv). Suppose for all left ideals A, B of S we have $A \cap B = AB$. Then for all left ideal elements A, B of $\mathcal{P}(S)$ we have $\inf\{A, B\} = A \cap B = AB$. By Theorem 9(iii) \implies (iv), the set of left ideal elements of $\mathcal{P}(S)$ is a semilattice. Then the set of left ideal elements of S is a semilattice.

(iv) \implies (i). Suppose the set of left ideals of S is a semilattice. Then the set of left ideal elements of $\mathcal{P}(S)$ is a semilattice. According to the proof of Theorem 9(iv) \implies (i), the relation \mathcal{L} on $\mathcal{P}(S)$ defined by

$$\mathcal{L} := \{(A, B) \mid L(A) = L(B)\}$$

is equal to

$$\mathcal{L} = \{(A, B) \mid SA = SB\}$$

and it is a semilattice congruence on $\mathcal{P}(S)$ such that $(A)_{\mathcal{L}}$ is a left simple $\vee e$ -subsemigroup of $\mathcal{P}(S)$ for every $A \in \mathcal{P}(S)$. We consider the relation \mathcal{L}_S on S defined by

$$\mathcal{L}_S := \{(a, b) \mid (\{a\}, \{b\}) \in \mathcal{L}\}.$$

One can easily prove that \mathcal{L}_S is a semilattice congruence on S and that the set $(a)_{\mathcal{L}_S}$ is a subsemigroup of S for every $a \in S$. Moreover, the class $(a)_{\mathcal{L}_S}$ is a left simple subsemigroup of S . Indeed: Let L be a left ideal of $(a)_{\mathcal{L}_S}$ and $x \in (a)_{\mathcal{L}_S}$. Take an element $z \in L$ ($L \neq \emptyset$). We prove that $x = (tz)z$ for some $t \in S$ and also that $tz \in (a)_{\mathcal{L}_S}$. Then we have $x \in (a)_{\mathcal{L}_S}L \subseteq L$, and the proof is complete.

Since $x \in (a)_{\mathcal{L}_S}$, we have $(x, a) \in \mathcal{L}_S$; then $(\{x\}, \{a\}) \in \mathcal{L}$ and so $Sx = S\{x\} = S\{a\} = Sa$. Since $z \in (a)_{\mathcal{L}_S}$ and $(a)_{\mathcal{L}_S}$ is a subsemigroup of S , we have $z^2 \in (a)_{\mathcal{L}_S}$; then $(z^2, a) \in \mathcal{L}_S$, $(\{z^2\}, \{a\}) \in \mathcal{L}$ and so $S\{z^2\} = S\{a\}$ and $Sz^2 = Sa$. Since $\{x\} \in \mathcal{P}(S)$ and \mathcal{L} is a semilattice congruence on $\mathcal{P}(S)$, we have $(\{x\}^2, \{x\}) \in \mathcal{L}$; then $L(\{x^2\}) = L(\{x\})$, that is $\{x^2\} \cup S\{x^2\} = \{x\} \cup S\{x\}$. Thus we get $x \in x \cup Sx = x^2 \cup Sx^2 \subseteq Sx$. Therefore, we have $x \in Sx = Sa = Sz^2$ and so $x = (tz)z$ for some $t \in S$. Moreover, since \mathcal{L}_S is a semilattice congruence on S , we have

$$tz \in (t)_{\mathcal{L}_S}(z)_{\mathcal{L}_S} = (t)_{\mathcal{L}_S}(z^2)_{\mathcal{L}_S} = (tz^2)_{\mathcal{L}_S} = (x)_{\mathcal{L}_S} = (a)_{\mathcal{L}_S},$$

and so $tz \in (a)_{\mathcal{L}_S}$. □

Next, we characterize the chains of left simple $\vee e$ -semigroups in terms of left ideal elements.

Definition 11. A $\vee e$ -semigroup S is called a *chain of left simple semigroups* if there exists a semilattice congruence σ on S such that the σ -class $(x)_{\sigma}$ is a left simple $\vee e$ -subsemigroup of S for every $x \in S$ and the set $S/\sigma := \{(x)_{\sigma} \mid x \in S\}$ endowed with the relation

$$(x)_{\sigma} \leq (y)_{\sigma} \iff (x)_{\sigma} = (xy)_{\sigma}$$

is a chain. (Recall that, since σ is a semilattice congruence on S , the relation “ \leq ” is an order relation on S/σ).

Theorem 12. *Let S be a $\vee e$ -semigroup. The following are equivalent:*

- (i) S is a chain of left simple $\vee e$ -semigroups.
- (ii) The set F_l of the left ideal elements of S endowed with the relation

$$\preceq := \{(a, b) \mid a, b \in F_l, a = ab = ba\}$$

is a chain.

Proof. (i) \implies (ii). Let σ be a semilattice congruence on S such that $(x)_\sigma$ is a left simple $\vee e$ -subsemigroup of S for every $x \in S$, and $(S/\sigma, \preceq)$ is a chain. Since S is a semilattice of left simple $\vee e$ -semigroups, by Theorem 9(i) \implies (iv), (F_l, \cdot) is a semilattice. Then we have the following:

(1) (F_l, \preceq) is an ordered set. Indeed: If $a \in F_l$, then $a = a^2$ and so $(a, a) \in \preceq$. If $(a, b) \in \preceq$ and $(b, a) \in \preceq$, then $a = ab = ba$ and $b = ba = ab$ and so $a = b$. If $(a, b) \in \preceq$ and $(b, c) \in \preceq$, then $a = ab = ba$ and $b = bc = cb$; then

$$ac = (ab)c = a(bc) = ab = a \text{ and } ca = c(ba) = (cb)a = ba = a,$$

and so $a = ac = ca$, and $(a, c) \in \preceq$.

(2) (F_l, \preceq) is a chain. Indeed: Let $a, b \in F_l$. As $(a)_\sigma, (b)_\sigma \in S/\sigma$ and $(S/\sigma, \preceq)$ is a chain, we have $(a)_\sigma = (ab)_\sigma$ or $(b)_\sigma = (ba)_\sigma$. Let $(a)_\sigma = (ab)_\sigma$ and f the greatest element of $(ab)_\sigma$. Since $a, ab \in (ab)_\sigma$, $fa \leq ea \leq a$ and $f(ab) = (fa)b \leq ab$, the elements a and ab are left ideal elements of $(ab)_\sigma$. Since $(ab)_\sigma$ is left simple, we have $ab = f = a$. Since F_l is a semilattice, we get $ab = ba$; thus we have $a = ab = ba$ and $(a, b) \in \preceq$. If $(b)_\sigma = (ba)_\sigma$ then, by symmetry, we obtain $(b, a) \in \preceq$.

(ii) \implies (i). (F_l, \cdot) is a semilattice. In fact: Since $e \in F_l$ ($: ee \leq e$), the set F_l is a nonempty subset of S . If $a, b \in F_l$, then $e(ab) = (ea)b \leq ab$ and so $ab \in F_l$. If $a \in F_l$, then $(a, a) \in \preceq$ and so $a^2 = a$ and if $a, b \in F_l$, then $(a, b) \in \preceq$ or $(b, a) \in \preceq$, that is $a = ab = ba$ or $b = ba = ab$ and so $ab = ba$. Thus (F_l, \cdot) is a commutative and idempotent semigroup, which means that it is a semilattice.

According to the proof of (iv) \implies (i) of the Theorem 9, the relation

$$\mathcal{L} = \{(a, b) \in S \times S \mid ea = eb\}$$

is a semilattice congruence on S and $(x)_\mathcal{L}$ is a left simple $\vee e$ -subsemigroup of S for every $x \in S$. It remains to prove that the set S/\mathcal{L} endowed with the order relation “ \leq ” is a chain. Let now $x, y \in S$. Since $ex, ey \in F_l$ and (F_l, \preceq) is a chain, we have $(ex, ey) \in \preceq$ or $(ey, ex) \in \preceq$. If $(ex, ey) \in \preceq$, then $ex = exey (= eyex)$. Since $ex, e \in F_l$ and (F_l, \cdot) is a semilattice, we have

$$exey = (ex)ey = e(ex)y = e^2xy = exy,$$

and so $ex = exy$; then $(x, xy) \in \mathcal{L}$ and $(x)_\mathcal{L} = (xy)_\mathcal{L}$. If $(ey, ex) \in \preceq$, by symmetry, we get $(y)_\mathcal{L} = (yx)_\mathcal{L} = (xy)_\mathcal{L}$. Hence we have $(x)_\mathcal{L} = (xy)_\mathcal{L}$ or $(y)_\mathcal{L} = (xy)_\mathcal{L}$, and $(S/\mathcal{L}, \leq)$ is a chain. \square

The right analogues of the above results also hold.

Problem. Using a computer find the (nonisomorphic) left regular and left duo $\vee e$ -semigroups of order 5.

Acknowledgment

I would like to express my best thanks to the Editor-in-Chief of the journal Professor Dr Adnan Tercan for editing and communicating the paper, and to the two anonymous referees for reading the paper carefully (something lately not very usual) and their prompt reply.

References

- [1] Birkhoff G. Lattice Theory. Amer Math Soc Coll Publ Vol. XXV. Providence, RI, USA, 1967.
- [2] Clifford AH, Preston GB. The Algebraic Theory of Semigroups Vol. I. Amer Math Soc Math Surveys 7. Providence, RI, USA, 1961.

- [3] Fuchs L. Partially Ordered Algebraic Systems. Oxford, UK: Pergamon Press, 1963.
- [4] Kehayopulu N. On intra-regular $\vee e$ -semigroups. *Semigroup Forum* 1980; 19: 111-121.
- [5] Kehayopulu N, Ponizovskii JS. The chain of right simple semigroups in ordered semigroups (Russian, English). *J Math Sci, New York* 1998; 89: 1133-1137 and *Zap Nauchn Semin POMI* 1995; 227: 83-88.
- [6] Kehayopulu N, Tsingelis M. On ordered semigroups which are semilattices of left simple semigroups. *Math Slovaca* 2013; 63: 411-416.
- [7] Kehayopulu N, Tsingelis M. On left regular and intra-regular ordered semigroups. *Math Slovaca* 2014; 64: 1123-1134.
- [8] Saitô T. On semigroups which are semilattices of left simple semigroups. *Math Japon* 1973; 18: 95-97.